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[bookmark: _Hlk126873837][bookmark: _Hlk126874103]Supplementary Figure 1 The ROC curves of different models of the manual segmentation platform in the test set. “class 0” indicated incipient stage, “class 1” indicated intumescent stage, “class 2” indicated mature stage, “class 3”indicated hypermature stage.
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Supplementary Figure 2 The ROC curves of different models of the automatic segmentation platform in the test set. “class 0” indicated incipient stage, “class 1” indicated intumescent stage, “class 2” indicated mature stage, “class 3” indicated hypermature stage.[image: ]
[bookmark: _Hlk126874325]Supplementary Figure 3 The confusion matrix of the different models of the manual segmentation platform in the test set. Each column represents the predicted class and each row of the matrix represents the actual class. “label 0” indicated incipient stage, “label 1” indicated intumescent stage, “label 2” indicated mature stage, “label 3” indicated hypermature stage.
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Supplementary Figure 4 The confusion matrix of the different models of the automatic segmentation platform in the test set. Each column represents the predicted class and each row of the matrix represents the actual class. “label 0” indicated incipient stage, “label 1” indicated intumescent stage, “label 2” indicated mature stage, “label 3” indicated hypermature stage.
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